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HVORDAN FUNGERER GEAROLIER? 

*HDU-�RJ�WUDQVPLVVLRQVROLHU�LQGHKROGHU�VSHFLHO�DGGLWLYHULQJ��VRP�IRUEHGUHU�YLVNRVLWHWHQ�RJ�K¡M�
WU\NVHJHQVNDEHUQH��(3�DGGLWLYHU���'LVVH�VSHFLDODGGLWLYHU�HU�Q¡GYHQGLJH�Sn�JUXQG�DI�GH�EHODVWQLQ�
JHU�GHQQH�W\SH�VP¡UHROLH�XGV WWHV�IRU��(3�DGGLWLYHU�IRUHE\JJHU�VOLWDJH�QnU�JHDU-�RJ�WUDQVPLVVLR�
QHU�EHODVWHV�  

(Q�NYDOLWHWV�JHDUROLH�VNDO�NXQQH�UHJXOHUH�IULNWLRQHQ�RJ�GHUPHG�RJVn�WHPSHUDWXUHQ�L�JHDUHW��)ULNWL�
RQ�I¡UHU�WLO�¡JHW�YDUPH��KYLONHW�NDQ�PHGI¡UH�DOYRUOLJH�RJ�G\UH�VNDGHU��'HUIRU�HU�GHW�YLJWLJ��DW�JHD�
UHW�EOLYHU�VPXUW�NRUUHNW�PHG�HQ�VP¡UHROLH�DI�K¡M�NYDOLWHW��'HWWH�VLNUHU�RSWLPDO�\GHHYQH�RJ�VDPWLGLJ�
EHVN\WWHOVH�PRG�VOLWDJH��'HW�ULJWLJH�YDOJ�DI�JHDUROLH�NDQ�GHUIRU�VSDUH�EnGH�WLG�RJ�SHQJH� 

 

 

HVORFOR VÆLGE TOTAL GEAROLIE ? 

727$/�WLOE\GHU�KROGEDUH�JHDUROLHU�DI�K¡M�NYDOLWHW�WLO�EnGH�PDQXHOOH�RJ�DXWRPDWLVNH�JHDUNDVVHU��
VSHFLDO�ROLHU�WLO�DNVOHU�RJ�GLIIHUHQWLDOHU��6RUWLPHQWHW�G NNHU�RJVn�VSHFLDOXGYLNOHGH�EU QGVWRIUHGX�
FHUHQGH�JHDUROLHU��VRP�GHUPHG�ELGUDJHU�WLO�¡JHW�PLOM¡EHVN\WWHOVH�  

Þ *HDUROLHU�WLO�PDQXHOOH�JHDU�RJ�DNVOHU� 727$/�75$160,66,21�VHULHQ�HU�HQ�U NNH�K¡M�
NYDOLWHWV�JHDU-�RJ�DNVHOROLHU�WLO�ELGUDJHU�WLO�UHGXNWLRQ�DI�GLQH�RPNRPVWQLQJHU�RJ�JLYHU�RSWLPDO�
EHVN\WWHOVH�DI�DI�NRPSRQHQWHUQH�  

Þ *HDUROLHU�WLO�DXWRPDWLVNH�WUDQVPLVVLRQHU� 727$/�)/8,'�RJ�)/8,'0$7,&�VHULHUQH�G N�
NHU�HQ�U NNH�K¡MNYDOLWHWV�VSHFLDOROLHU�WLO�DXWRPDWLVNH�WUDQVPLVVLRQHU��(Q�U NNH�DI�SURGXNWHU�
JLYHU�EHGUH�EU QGVWRI¡NRQRPL��O QJHUH�VNLIWHLQWHUYDOOHU�VDPW�HNVWUD�JRGH�IULNWLRQVQHGV W�
WHQGH�HJHQVNDEHU 


